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Propagation	
  of	
  Errors-­‐a	
  
•  In	
  most	
  of	
  the	
  cases	
  in	
  an	
  experiment	
  the	
  direct	
  measurement	
  
of	
  some	
  physical	
  quan''es	
  is	
  used	
  for	
  the	
  indirect	
  
measurement	
  of	
  another	
  physical	
  quan'ty.	
  For	
  example	
  if	
  we	
  
measure	
  the	
  current	
  I	
  through	
  a	
  wire	
  and	
  the	
  voltage	
  V	
  across	
  
it	
  then	
  we	
  can	
  es'mate	
  its	
  resistance	
  R	
  using	
  the	
  well-­‐known	
  
rela'on	
  R=V/I.	
  

•  Let’s	
  assume	
  that	
  we	
  have	
  measured	
  the	
  voltage	
  V	
  with	
  an	
  
error	
  δV	
  (no	
  maEer	
  if	
  it	
  is	
  a	
  reading	
  error	
  or	
  the	
  absolute	
  error	
  
of	
  the	
  average	
  value)	
  and	
  the	
  current	
  I	
  with	
  an	
  error	
  δI.	
  In	
  this	
  
case	
  we	
  do	
  not	
  have	
  a	
  direct	
  measurement	
  of	
  R	
  and	
  an	
  error	
  
associated	
  with	
  it.	
  Thus	
  the	
  errors	
  of	
  the	
  voltage	
  and	
  current	
  
will	
  have	
  an	
  impact	
  on	
  the	
  error	
  of	
  the	
  resistance.	
  

	
  



Propagation	
  of	
  Errors-­‐b	
  
•  The	
  mathema'cal	
  theory	
  of	
  errors	
  gives	
  us	
  the	
  following	
  
rule:	
  
•  Let’s	
  assume	
  we	
  wish	
  to	
  measure	
  the	
  quan'ty	
  	
  

Where	
  the	
  quan''es	
  x,	
  y,	
  z	
  ,…	
  have	
  associated	
  errors	
  δx,	
  
δy,	
  δz	
  ,…	
  Then	
  	
  the	
  error	
  of	
  the	
  quan'ty	
  f	
  is	
  given	
  by	
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Propagation	
  of	
  Errors-­‐c	
  
•  Thus	
  for	
  the	
  error	
  of	
  the	
  resistance	
  

•  Note	
  1:	
  When	
  we	
  do	
  the	
  par'al	
  differen'a'ons	
  and	
  we	
  need	
  
to	
  subs'tute	
  recordings	
  in	
  the	
  place	
  of	
  x,	
  y,	
  z	
  ,…we	
  must	
  put	
  
the	
  corresponding	
  results	
  no	
  maEer	
  if	
  they	
  are	
  average	
  values	
  
or	
  recorded	
  values.	
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How	
  we	
  draw	
  a	
  curve-­‐a	
  
Usually	
  the	
  experimental	
  
recordings	
  do	
  not	
  show	
  up	
  
smoothly	
  when	
  we	
  put	
  them	
  
on	
  a	
  diagram.	
  It	
  is	
  wrong	
  to	
  
join	
  them	
  as	
  in	
  the	
  dashed	
  
style	
  shown	
  in	
  the	
  figure.	
  This	
  
is	
  wrong	
  because	
  it	
  would	
  
mean	
  that	
  the	
  physical	
  
quan'ty	
  changes	
  abruptly	
  at	
  
some	
  points.	
  	
  
The	
  most	
  reasonable	
  choice	
  
would	
  be	
  the	
  smooth	
  solid	
  
curve	
  shown	
  in	
  the	
  figure.	
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µİ įU=0.2 V țĮȚ įI=1 mA. ǹʌȩ ĲȠȞ ĲȪʌȠ ĲȠȣ Ohm ȣʌȠȜȠȖȓȗȠȣµİ ĲȘȞ ĮȞĲȓıĲĮıȘ R ȖȚĮ 
įȚȐĳȠȡİȢ ĲȚµȑȢ ĲȠȣ U. 

U (V) I (mA) R (ȍ) įR (ȍ) R rįR (ȍ)  
5 25 192.31 11 192 11r  
7 35 200 8 200 8r  
9 43 209.30 7 209 7r  
11 51 215.69 6 216 6r  
13 58 224.14 5 224 5r  
15 65 230.77 5 231 5r  
18 75 240 4 240 4r  
20 79 253.16 4 253 4r  

8. ȆȍȈ ȋǹȇǹǽȅȊȂǼ Ȃǿǹ ȀǹȂȆȊȁǾ 

ȈȣȤȞȐ ĲĮ ĮʌȠĲİȜȑıµĮĲĮ ĲȦȞ 
µİĲȡȒıİȫȞ µĮȢ ĲĮ įȓȞȠȣµİ µİ ĲȘ 
ȕȠȒșİȚĮ ȖȡĮĳȚțȫȞ ʌĮȡĮıĲȐıİȦȞ, İȓĲİ 
ȖȚĮĲȓ ĮȣĲȑȢ µĮȢ ȕȠȘșȠȪȞ ȖȚĮ ĲȠȞ 
ȣʌȠȜȠȖȚıµȩ țȐʌȠȚȦȞ µİȖİșȫȞ, İȓĲİ ȖȚĮ 
ȞĮ ĲĮ įİȓȟȠȣµİ țĮȜȪĲİȡĮ țĮȚ ȞĮ 
ȕȖȐȜȠȣµİ ıȣȖțİțȡȚµȑȞĮ ĳȣıȚțȐ 
ıȣµʌİȡȐıµĮĲĮ. 

ȈȣȞȒșȦȢ ȩµȦȢ ĲĮ ʌİȚȡĮµĮĲȚțȐ 
µĮȢ ĮʌȠĲİȜȑıµĮĲĮ įİȞ ʌȑĳĲȠȣȞ 
"ȠµĮȜȐ" ıĲȠ įȚȐȖȡĮµµȐ µĮȢ. ĬĮ ȒĲĮȞ 
ȜȐșȠȢ ȞĮ ĲĮ İȞȫıȠȣµİ ĲȩĲİ µİĲĮȟȪ 
ĲȠȣȢ ȩʌȦȢ µİ ĲȚȢ įȚĮțİțȠµµȑȞİȢ  

 y

                                                                    x  
ȈȤȒµĮ 7 

ȖȡĮµµȑȢ ĲȠȣ ıȤȒµĮĲȠȢ 7, ȖȚĮĲȓ ĮȣĲȩ șĮ ıȒµĮȚȞİ ȩĲȚ ıĲĮ ıȘµİȓĮ ĮȣĲȐ ĲȠ µİĲȡȠȪµİȞȠ 
µȑȖİșȠȢ ĮȜȜȐȗİȚ ĮȜµĮĲȦįȫȢ țȐʌȠȚİȢ ȚįȚȩĲȘĲȑȢ ĲȠȣ, ʌȡȐȖµĮ ʌȠȣ įİȞ ĳĮȓȞİĲĮȚ ʌȚșĮȞȩ. 
ǲĲıȚ ĲȠ ȜȠȖȚțȩ șĮ ȒĲĮȞ ȞĮ ĳȑȡȠȣµİ µȚĮ ȠµĮȜȒ țĮµʌȪȜȘ ȩʌȦȢ ıĲȠ ıȤ. 7.  
ǼȟȐȜȜȠȣ ĳȑȡȠȞĲĮȢ ĲĮ ıȘµİȓĮ ıĲȠ  ıȤȒµĮ  µĮȢ įİȞ ĮȞĮĳİȡșȒțĮµİ țĮșȩȜȠȣ ıĲĮ 
ıĳȐȜµĮĲĮ, ʌȠȣ, ȩʌȦȢ İȓʌĮµİ, ıȣȞȠįİȪȠȣȞ țȐșİ µȑĲȡȘıȘ țĮȚ țȐșİ ʌİȚȡĮµĮĲȚțȩ 
ĮʌȠĲȑȜİıµĮ.  

 
ȈȤȒµĮ 8 

ȉĮ ıĳȐȜµĮĲĮ ʌȡȑʌİȚ ʌȐȞĲĮ ȞĮ 
ȤĮȡȐııȠȞĲĮȚ ıĲȠ įȚȐȖȡĮµµĮ ȖȚĮ țȐșİ ıȘµİȓȠ 
ȩʌȦȢ ĳĮȓȞİĲĮȚ ıĲȠ ıȤ. 8, ȩʌȠȣ ĲĮ įx țĮȚ įy 
İȓȞĮȚ ĲĮ ıĳȐȜµĮĲĮ (ĮȞȐȖȞȦıȘȢ, µȑıȘȢ ĲȚµȒȢ 
Ȓ ıȪȞșİĲĮ), İȞȫ ĲȠ µȑȖİșȠȢ ĲȦȞ ȖȡĮµµȫȞ 
ĮȞĲĮʌȠțȡȓȞİĲĮȚ ıĲȠ µȑȖİșȠȢ ĲȦȞ ıĳĮȜµȐĲȦȞ 
ıȪµĳȦȞĮ µİ ĲȚȢ ȤȡȘıȚµȠʌȠȚȠȪµİȞİȢ ȖȚĮ ĲĮ x 
țĮȚ y țȜȓµĮțİȢ. 

ǲĲıȚ ȜȠȚʌȩȞ ȠȚ țĮµʌȪȜİȢ ȤĮȡȐııȠȞĲĮȚ ȩʌȦȢ 
ĳĮȓȞȠȞĲĮȚ ıĲĮ ıȤ. 9(Į) țĮȚ 9(ȕ). 



How	
  we	
  draw	
  a	
  curve-­‐b	
  
The	
  previous	
  discussion	
  does	
  
not	
  take	
  into	
  account	
  the	
  
errors.	
  The	
  errors	
  must	
  always	
  
be	
  drawn	
  for	
  any	
  point	
  which	
  
represent	
  a	
  recording	
  as	
  they	
  
are	
  shown	
  in	
  the	
  figure	
  where	
  
δx	
  and	
  δy	
  are	
  the	
  errors	
  
(reading	
  errors,	
  average	
  value	
  
errors	
  or	
  whatever).	
  The	
  
rela've	
  size	
  of	
  the	
  lines	
  
corresponds	
  to	
  the	
  size	
  of	
  the	
  
errors	
  in	
  the	
  scales	
  used	
  for	
  x	
  
and	
  y.	
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  draw	
  a	
  curve-­‐c	
  

22 
 

 
ȈȤȒµĮ 9 

ȆĮȡȐįİȚȖµĮ. Ȃİ ȕȐıȘ ĲȠ ʌĮȡȐįİȚȖµĮ 7.3 ȤĮȡȐııȠȣµİ ĲȘȞ țĮµʌȪȜȘ ĲȠȣ 
ıȤȒµĮĲȠȢ 10. 

 
ȈȤȒµĮ 10 

ª ȆĮȡĮĲȒȡȘıȘ. ȈĲȚȢ ȖȡĮĳȚțȑȢ ʌĮȡĮıĲȐıİȚȢ įİȞ ȑȤȠȣµİ ĲȠ įȚțĮȓȦµĮ ȞĮ ʌȡȠİțĲİȓȞȠȣµİ 
ĲȘȞ ʌİȚȡĮµĮĲȚțȒ țĮµʌȪȜȘ įİȟȚȐ Ȓ ĮȡȚıĲİȡȐ ĲȦȞ ĮțȡĮȓȦȞ ıȘµİȓȦȞ, ĮțȩµȘ țȚ ĮȞ ȟȑȡȠȣµİ 
Įʌȩ ĲȘ șİȦȡȓĮ ʌȦȢ ĮȣĲȒ ʌİȡȓʌȠȣ ʌȡȑʌİȚ ȞĮ ʌȘȖĮȓȞİȚ, ȖȚĮĲȓ țĮȞİȓȢ įİȞ µʌȠȡİȓ ȞĮ µĮȢ 
įȚĮȕİȕĮȚȫıİȚ ʌȦȢ ıĲȘ ıȣȖțİțȡȚµȑȞȘ ʌİȚȡĮµĮĲȚțȒ ıȣıțİȣȒ ĮȣĲȩ ȚıȤȪİȚ. ȂʌȠȡȠȪµİ 
ȩµȦȢ, ĮȞ (țĮȚ ȩĲĮȞ) ĮʌĮȚĲİȓĲĮȚ Įʌȩ ĲȘȞ ȐıțȘıȘ, ȞĮ țȐȞȠȣµİ țȐʌȠȚİȢ ʌȡȠİțĲȐıİȚȢ, țĮĲȐ 
țĮȞȩȞĮ İȣșȪȖȡĮµµİȢ. 

9. ȂǼĬȅǻȅȈ ǼȁǹȋǿȈȉȍȃ ȉǼȉȇǹīȍȃȍȃ  

ȊʌȐȡȤȠȣȞ µİȡȚțȑȢ ʌİȡȚʌĲȫıİȚȢ ȩµȦȢ, ʌȠȣ ȖȚĮ ĲȘȞ ȤȐȡĮȟȘ ĲȘȢ țĮµʌȪȜȘȢ įİȞ ȤȡİȚȐȗİĲĮȚ 
ȞĮ ʌȡȠıʌĮșȒıȠȣµİ ȞĮ ĲȠ țȐȞȠȣµİ µİ ĲȠ µȐĲȚ İʌȚįȚȫțȠȞĲĮȢ ȞĮ ʌİȡȐıȠȣµİ țȠȞĲȐ ıĲĮ 
ıȘµİȓĮ țĮȚ µȑıĮ Įʌȩ ĲĮ ıĳȐȜµĮĲĮ, ĮȜȜȐ µʌȠȡȠȪµİ ȞĮ ȤĮȡȐȟȠȣµİ ĲȘȞ țĮȜȪĲİȡȘ įȣȞĮĲȒ 
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Įʌȩ ĲȘ șİȦȡȓĮ ʌȦȢ ĮȣĲȒ ʌİȡȓʌȠȣ ʌȡȑʌİȚ ȞĮ ʌȘȖĮȓȞİȚ, ȖȚĮĲȓ țĮȞİȓȢ įİȞ µʌȠȡİȓ ȞĮ µĮȢ 
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țĮȞȩȞĮ İȣșȪȖȡĮµµİȢ. 

9. ȂǼĬȅǻȅȈ ǼȁǹȋǿȈȉȍȃ ȉǼȉȇǹīȍȃȍȃ  
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Wheb	
  we	
  draw	
  a	
  curve	
  we	
  cannot	
  extend	
  beyond	
  the	
  leQmost	
  or	
  rightmost	
  points	
  	
  
even	
  if	
  we	
  know	
  the	
  mathema'cal	
  form	
  of	
  the	
  curve	
  because	
  we	
  do	
  not	
  know	
  if	
  	
  
this	
  is	
  true	
  	
  for	
  the	
  device	
  we	
  operate.	
  



The	
  least-­‐squares	
  method-­‐a	
  
•  There	
  are	
  cases	
  where	
  we	
  can	
  draw	
  the	
  best	
  possible	
  curve	
  
using	
  mathema'cal	
  points.	
  This	
  happens	
  when	
  the	
  expected	
  
curve	
  is	
  of	
  a	
  known	
  form	
  (e.g.	
  straight	
  line,	
  hyperbola,	
  
sinusoidal,	
  exponen'al).	
  

•  The	
  method	
  which	
  we	
  use	
  is	
  called	
  the	
  least	
  squares-­‐method	
  
because	
  what	
  is	
  needed	
  is	
  that	
  the	
  sum	
  of	
  the	
  squares	
  of	
  the	
  
distances	
  of	
  the	
  points	
  from	
  the	
  curve	
  must	
  be	
  minimum.	
  	
  

•  In	
  this	
  method	
  is	
  very	
  crucial	
  to	
  define	
  which	
  variable	
  is	
  the	
  
independent	
  (normally	
  x)	
  and	
  which	
  is	
  the	
  dependent	
  one	
  
(normally	
  y).	
  	
  

•  All	
  the	
  above	
  change	
  if	
  we	
  consider	
  that	
  y	
  is	
  the	
  independent	
  
and	
  x	
  is	
  the	
  dependent	
  variable.	
  In	
  this	
  case	
  we	
  get	
  a	
  different	
  
least	
  squares	
  curve.	
  	
  



The	
  least-­‐squares	
  method	
  for	
  a	
  
straight	
  line-­‐a	
  

•  In	
  the	
  case	
  of	
  a	
  straight	
  line	
  this	
  method	
  has	
  as	
  follows:	
  
1.  Let’s	
  assume	
  we	
  have	
  N	
  recordings	
  with	
  results	
  xi	
  	
  and	
  yi	
  .	
  
2.  Let’s	
  consider	
  that	
  x	
  is	
  the	
  independent	
  variable	
  and	
  y	
  the	
  

dependent	
  one	
  	
  
3.  The	
  recordings	
  have	
  errors	
  δx,	
  δy	
  respec'vely.	
  
4.  The	
  error	
  δy	
  is	
  the	
  same	
  for	
  all	
  the	
  recordings	
  yi.	
  
5.  	
  For	
  all	
  recordings	
  δx/	
  xi	
  <<δy/yi.	
  



The	
  least-­‐squares	
  method	
  for	
  a	
  
straight	
  line-­‐b	
  

•  The	
  expected	
  line	
  is	
  of	
  the	
  form:	
  y=A+Bx	
  with	
  A	
  and	
  B	
  and	
  
their	
  errors	
  are	
  given	
  by,	
  

A =
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The	
  least-­‐squares	
  method	
  for	
  a	
  straight	
  
line:	
  An	
  example	
  
•  We	
  measure	
  the	
  pressure	
  and	
  temperature	
  of	
  a	
  gas	
  and	
  we	
  
get	
  the	
  following	
  recordings:	
  

•  By	
  applying	
  the	
  least	
  squares	
  method	
  we	
  get:	
  

•  So	
  the	
  graph	
  of	
  temperature	
  against	
  pressure	
  is	
  given	
  in	
  the	
  
next	
  transparency:	
  

24 
 

p (mm Hg) 65 75 85 95 105 
t (oC) -20 17 42 94 127 

ȅȚ µİĲȡȒıİȚȢ µĮȢ İȓȞĮȚ ĲȑĲȠȚİȢ ȫıĲİ įp | 0 İȞȫ įt=2 oC. ĬȑȜȠȣµİ ȞĮ ȤĮȡȐȟȠȣµİ 
ıİ įȚȐȖȡĮµµĮ ĲȘȞ t=t(p). ǹʌȩ ĲȠȣȢ ȞȩµȠȣȢ ĲȦȞ ȚįĮȞȚțȫȞ ĮİȡȓȦȞ ȟȑȡȠȣµİ ȩĲȚ t=A+Bp, 
ȩʌȠȣ ȖȚĮ p=0 ǹ=�273.15 oC. ĬĮ İȜȑȖȟȠȣµİ ȜȠȚʌȩȞ ĲȠ ĮʌȠĲȑȜİıµȐ µĮȢ țĮȚ ĲĮȣĲȩȤȡȠȞĮ 
șĮ ȣʌȠȜȠȖȓıȠȣµİ  ĲȠ Ǻ. 

ǲȤȠȣµİ:  

ȃ=5, t p t p p Di i i
i

i
ii

i
i
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ǹʌȩ ĲȠȣȢ ĲȪʌȠȣȢ (9.2) � (9.7) ʌĮȓȡȞȠȣµİ: 

ǹ=�263.35,  Ǻ=3.71,  ıt=6.7|7,  įǹ=18,  įǺ=0.22. 

 ǱȡĮ ĲİȜȚțȐ: 

 ȈȤȒµĮ 11 

( 263 18) °C,
(3.71 0.22) °C/mmHg
A

B
 � r

 r
 

ǵʌȦȢ ȕȜȑʌȠȣµİ ĲȠ 
ʌİȚȡĮµĮĲȚțȩ ǹ ȕȡȓıțİĲĮȚ 
ıİ țĮȜȒ ıȣµĳȦȞȓĮ µİ ĲȠ 
ĮȞĮµİȞȩµİȞȠ șİȦȡȘĲȚțȩ. 

ȉȫȡĮ ʌȚĮ 
µʌȠȡȠȪµİ ȞĮ ȤĮȡȐȟȠȣµİ 
ĲȘȞ İȣșİȓĮ. ǹĳȠȪ 
ȕȐȜȠȣµİ ıĲȠ µȚȜȜȚµİĲȡȑ 
ȤĮȡĲȓ ĲĮ ıȘµİȓĮ 
ĳȑȡȞȠȣµİ ĲȘȞ İȣșİȓĮ µİ 
ȕȐıȘ ĲȠ ǹ țĮȚ ĲȘȞ țȜȓıȘ 
Ǻ ( ıȤ. 11). 
 

 

10. Ǿ ǹȆȅȇȇǿȌǾ ȀǹȆȅǿȍȃ ǹȆȅȉǼȁǼȈȂǹȉȍȃ 

ȂİȡȚțȑȢ ĳȠȡȑȢ ȩĲĮȞ µİĲȡȠȪµİ İʌĮȞİȚȜȘµµȑȞĮ ĲȘȞ ȓįȚĮ ʌȠıȩĲȘĲĮ, țȐʌȠȚȠ Įʌȩ ĲĮ 
ĮʌȠĲİȜȑıµĮĲȐ µĮȢ įȚĮĳȑȡİȚ Įʌ’ ȩȜĮ ĲĮ ȐȜȜĮ. ǵĲĮȞ ĮȣĲȩ ıȣµȕĮȓȞİȚ Ƞ ʌİȚȡĮµĮĲȚțȩȢ 
ʌȡȑʌİȚ ȞĮ ĮʌȠĳĮıȓıİȚ ĮȞ ĮȣĲȩ İȓȞĮȚ ıȣȞȑʌİȚĮ țȐʌȠȚȦȞ ȜĮșȫȞ ıĲȘ įȚĮįȚțĮıȓĮ ĲȘȢ 
µȑĲȡȘıȘȢ, ȠʌȩĲİ ʌȡȑʌİȚ ȞĮ ĮȖȞȠȘșİȓ, Ȓ İȓȞĮȚ ȞȠµȠĲİȜİȚĮțȩ ĮʌȠĲȑȜİıµĮ ʌȠȣ ʌȡȑʌİȚ ȞĮ 
İȟİĲĮıĲİȓ µĮȗȓ µ’ ȩȜĮ ĲĮ ȐȜȜĮ. īȚĮ ʌĮȡȐįİȚȖµĮ țȐȞȠȣµİ 6 µİĲȡȒıİȚȢ ĲȘȢ ʌİȡȚȩįȠȣ İȞȩȢ 
İțțȡİµȠȪȢ țĮȚ ȕȡȓıțȠȣµİ (ıİ įİȣĲİȡȩȜİʌĲĮ): 

3.8  3.5   3.9   3.9   3.4   1.8 

Ȉ’ ĮȣĲȩ ĲȠ ʌĮȡȐįİȚȖµĮ ĲȠ 1.8 įȚĮĳȑȡİȚ ıȘµĮȞĲȚțȐ Įʌȩ ĲĮ ȣʌȩȜȠȚʌĮ ĮʌȠĲİȜȑıµĮĲĮ 
țĮȚ ʌȡȑʌİȚ ȞĮ ĮʌȠĳĮıȓıȠȣµİ ĲȚ șĮ ĲȠ țȐȞȠȣµİ.  
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The	
  least-­‐squares	
  method	
  for	
  a	
  straight	
  
line:	
  An	
  example	
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10. Ǿ ǹȆȅȇȇǿȌǾ ȀǹȆȅǿȍȃ ǹȆȅȉǼȁǼȈȂǹȉȍȃ 

ȂİȡȚțȑȢ ĳȠȡȑȢ ȩĲĮȞ µİĲȡȠȪµİ İʌĮȞİȚȜȘµµȑȞĮ ĲȘȞ ȓįȚĮ ʌȠıȩĲȘĲĮ, țȐʌȠȚȠ Įʌȩ ĲĮ 
ĮʌȠĲİȜȑıµĮĲȐ µĮȢ įȚĮĳȑȡİȚ Įʌ’ ȩȜĮ ĲĮ ȐȜȜĮ. ǵĲĮȞ ĮȣĲȩ ıȣµȕĮȓȞİȚ Ƞ ʌİȚȡĮµĮĲȚțȩȢ 
ʌȡȑʌİȚ ȞĮ ĮʌȠĳĮıȓıİȚ ĮȞ ĮȣĲȩ İȓȞĮȚ ıȣȞȑʌİȚĮ țȐʌȠȚȦȞ ȜĮșȫȞ ıĲȘ įȚĮįȚțĮıȓĮ ĲȘȢ 
µȑĲȡȘıȘȢ, ȠʌȩĲİ ʌȡȑʌİȚ ȞĮ ĮȖȞȠȘșİȓ, Ȓ İȓȞĮȚ ȞȠµȠĲİȜİȚĮțȩ ĮʌȠĲȑȜİıµĮ ʌȠȣ ʌȡȑʌİȚ ȞĮ 
İȟİĲĮıĲİȓ µĮȗȓ µ’ ȩȜĮ ĲĮ ȐȜȜĮ. īȚĮ ʌĮȡȐįİȚȖµĮ țȐȞȠȣµİ 6 µİĲȡȒıİȚȢ ĲȘȢ ʌİȡȚȩįȠȣ İȞȩȢ 
İțțȡİµȠȪȢ țĮȚ ȕȡȓıțȠȣµİ (ıİ įİȣĲİȡȩȜİʌĲĮ): 

3.8  3.5   3.9   3.9   3.4   1.8 

Ȉ’ ĮȣĲȩ ĲȠ ʌĮȡȐįİȚȖµĮ ĲȠ 1.8 įȚĮĳȑȡİȚ ıȘµĮȞĲȚțȐ Įʌȩ ĲĮ ȣʌȩȜȠȚʌĮ ĮʌȠĲİȜȑıµĮĲĮ 
țĮȚ ʌȡȑʌİȚ ȞĮ ĮʌȠĳĮıȓıȠȣµİ ĲȚ șĮ ĲȠ țȐȞȠȣµİ.  



The	
  least-­‐squares	
  method	
  for	
  a	
  
parabola	
  

•  When	
  we	
  have	
  a	
  sample	
  of	
  points	
  and	
  we	
  wish	
  to	
  
approximate	
  it	
  with	
  a	
  parabola	
  of	
  the	
  form:	
  

•  With	
  the	
  constants	
  a,	
  b,	
  and	
  c	
  sa'sfying	
  the	
  equa'ons:	
  
	
  

y = a+ bx + cx2
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The	
  least-­‐squares	
  method	
  for	
  two	
  
independent	
  variables	
  

•  Let’s	
  consider	
  the	
  case	
  where	
  there	
  exists	
  a	
  linear	
  rela'on	
  
between	
  the	
  dependent	
  variable	
  z	
  and	
  the	
  two	
  dependent	
  
variables	
  x	
  and	
  y	
  of	
  the	
  form	
  	
  	
  

with	
  the	
  constants	
  a,	
  b,	
  and	
  c	
  	
  

z = a+ bx + cy
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